WOODPECKER CNC 
Assembly Instructions
[image: image1.png]



V2.5
· Size of some parts：
[image: image2.png]Zaxis

Spindle

Yaxis





[image: image3.png]68mm
95mm

58mm





[image: image4.png]28mm

M5x10

4

28mm

20mm

42mm






1. Frame 1

Base: 330mm×2、360mm×3、Angle Support×6、M5*10×12、Spacer×12
[image: image5.jpg]wwoee

wuwg9g

360mm





· Frame 2: 220mm×2、360mm×2、Angle Suport×4、M5*10×8、

Specer×8
[image: image6.jpg]360mm

wwioee

wwoe




· Frame : Angle Support×6、M5*10×16、Spacer×12、Connecting pieces×2
[image: image7.png]330mm

220mm




· Size of Polished Rod Supporting Base 1:
[image: image8.png]70mm

300mm




· Size of Polished Rod Supporting Base 2:
[image: image9.png]21mm

O

68mm





· Y-axis: M6*10×10、Sliding Block×5、Worktable×1
[image: image10.png]WwQTT





· Stepper Motor
[image: image11.png]



[image: image12.png]



· X-axis & Z-axis
[image: image13.jpg]




Lead screws installation
[image: image14.jpg]Copper nut
Lead screw (400mm)

Spring





[image: image15.jpg]Copper nut Spring Y-axis nut seat

Lead screw (320mm)





[image: image16.png]



· Couplings Assembly:
Tighten two screws from one side only

[image: image17.png]Set screw (M4*4 x2)
Coupling (5-8) Nﬁ

Lead screw j‘

X





· Bearing Assembly:
[image: image18.png]



1. Control board Assembly
[image: image19.png]



Wiring Diagram
[image: image20.jpg]L

Spindle Motor
12-36V

ER ONC




